Lattice Multiplication (A)

Use lattice multiplication to find each product.

8 3 7 2 9 4 6 8
3 9
2 8
3 7
2 3
8372 x 3232 = 9468 x 9873 =
1 9 0 1 4 1 4 9
8 5
3 1
2 5
9 7
1901 x 8329 = 4149 x 5157 =
3.6 0 2 1 3 0 6
1 5
4 1
7 0
0 8
3602 x 1470 = 1306 x 5108 =
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Lattice Multiplication (A) Answers

Use lattice multiplication to find each product.

8 3 7 2 9 4 6 8
2 0 2 0 3 8 3 5 7 9
2 4 9 1 6 9 1 6 4 2
1 0 1 0 2 7 3 4 6 8
7 6 6 4 4 3 2 2 8 4
2 0 2 0 3 6 2 4 5 7
0 4 9 1 6 4 3 8 2 6
1 0 1 0 ) 2 1 1 2 3
5 6 6 4 4 7 7 2 8 4
8 3 0 4 7 5 6 4
8372 x 3232 = 27,058, 304 9468 x 9873 = 93,477,564
1 9 o0 1 4 1 4 9
0 7 0 0 8 2 0 2 4 5
1 8 2 0 8 2 0 5 0 5
0 2 0 0 3 0 0 0 0 1
5 3 7 0 3 1 4 1 4 9
o /1t 10 710 7 , 2 10 2 A4 s
8 2 8 0 2 3 0 5 0 5
0 8 0 0 9 2 0 2 6 7
3 9 1 0 9 9 8 7 8 3
3 4 2 9 6 3 9 3
1901 x 8329 = 15,833,429 4149 x 5157 = 21,396,393
3 6 0 2 1 3 0 6
0 0 0 0 1 0 1 0 3 5
0 3 6 0 2 0 5 5 0 0
1 2 0 0 4 0 0 0 0 1
5 2 4 0 8 6 1 3 0 6
2 4 0 1 7 0 0 0 0 0
2 1 2 0 4 6 0 0 0 0
0 0 0 0 0 0 2 0 4 8
9 0 0 0 0 7 8 4 0 8
4 9 4 0 1 0 4 8
3602 x 1470 = 5,294,940 1306 x 5108 = 6,671,048
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Lattice Multiplication (B)

Use lattice multiplication to find each product.

8 4 0 6 6 6 9 6
5 7
5 6
1 3
7 7
8406 x 5517 = 6696 x 7637 =
6 6 3 2 7 4 6 6
7 9
5 5
2 0
6 8
6632 x 7526 = 7466 x 9508 =
9 9 2 3 4 9 0 5
9 4
8 2
8 8
2 6
9923 x 9882 = 4905 x 4286 =
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Lattice Multiplication (B) Answers

Use lattice multiplication to find each product.

8 4 0 6 6 6 9 6
1+ 2710 3 /] s 1 /14 Te /T4 A 4
40,0, o/ 0 s, 0 21 3| 2
1+ 12 /10 A3 /) s 335 15
6,0, 0, o 0 16 6, 4, 6
0 10 10 10 /] 4 U AT A2 1 ) 5
3,78, 4,0 6 18 8l 71,/ 8
5 2 0 14 7 4 1+ N4 16 4 4
716 8, ol 2 3, 21, 2 3 2
5 9 0 2 7 3 5 2
8406 x 5517 = 46,375,902 6696 x 7637 = 51,137,352
6 6 3 2 7 4 6 6
+ N4 12 ) 6 1315 /15 9
a2 ol 1 4 713 6l 4l 4
33 T A s 323 15 ) s
o, 0,0, 5, 0 o570, o, 0
T 1 10 10 7, 0 /10710 710 7
ol 2|/ 2| 6|/ 4 o, 0,0, 0, 0
3 13 0T 53 4 4 ) g
16, 6, 8, 2 s, 6l 2| 8 8
2 4 3 2 6 7 2 38
6632 x 7526 = 49.912.432 7466 x 9508 = 70,986,728
9 9 2 3 4 9 0 5
8§ 18 /T T2 7 g 13 710 12 A 4
o 11 8 7 21,6 6l 0l 0
TANAT T2 ) g o /11 10 1 1,
8, 2 2 6 4 18 8 o 0
7T AT 2 ) g 37710 14 ¢
o, 2 2/ 6/ 4 o, 21 2 o/ 0
11 10 /10 A4 5 2 5 10 13 A 6
s8] 8], 4 6 o, 4l 4l ol 0
9 0 8 6 2 8 3 0
0923 x 9882 = 98,059,086 4905 x 4286 = 21,022,830
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Lattice Multiplication (C)

Use lattice multiplication to find each product.

9 1 6 2 5.9 7 5
1 4
8 8
2 4
5 2
9162 x 1825 = 5975 x 4842 =
2 4 2 0 2 4 6 2
6 5
6 2
9 6
6 1
2420 x 6696 = 2462 x 5261 =
7 0 1 8 8§ 5 3 4
6 7
1 1
0 4
6 2
7018 x 6106 = 8534 x 7142 =
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Lattice Multiplication (C) Answers

Use lattice multiplication to find each product.

9 1 6 2 5 9 7 5
0 To 7o /To /], 2 T3 12 T2 /) .
1, 91| 6, 2 2, 0, 6,/ 8, 0
70 A4 1 A g A7 5 14 ) g
o, 28,8, 6 8, 0, 2 6,0
L0 A1 10 A, 2 13 12 2 7,
11,8, 2 2 4 o, 0, 6,8, 0
0 13 1 A 5 AT AT AT,
2,5, 5,0, 0 3, 0,78, 4, 0
0 6 5 0 0 9 5 0
9162 x 1825 = 16,720,650 5975 x 4842 = 28,930,950
2 4 2 0 2 4 6 2
L2 0 10 7 6 12 13 T s
1, 24, 2 0 1L, 0 o 0 0
L2 10 A0 6 0 10 /1 710 A,
6, 2 4, 2 0 ol 4l 8 0] 4
L3 1 10 A L2 13 A1 6
2, 8, 6/ 8, 0 o, "o 4, 6 2
T2 10 0 7 6 0 10 710 710 1,
o, 2 4, 2 0 s, 0 4, 6 2
4 3 2 0 2 5 8 2
2420 x 6696 = 16,204,320 2462 x 5261 = 12,952,582
7 0 1 8 8 5 3 4
4 10 To T4 A 6 513 12 12 A 4
4,2 0,/ 6, 8 o, 6, 5,1, 8
0 10 /10 710 1, 010 /10 /10 1,
o, 7, o 1) 8 o, 8, 5 3, 4
0 10 /10 710 1 3 2 AT 1 ),
8, 0, 0, 0,0 o, 2 02 6
1 /10 A0 4 A 6 /1 0 /10 A,
s, 2 0, 6, 8 a6, 0 6, 8
I 9 0 8 9 8 2 38
7018 x 6106 = 42,851,908 8534 x 7142 = 60,949,828
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Lattice Multiplication (D)

Use lattice multiplication to find each product.

4 6 9 6 1 7 5 6
7 1
6 8
0 I
0 5
4696 x 7600 = 1756 x 1815 =
5 2 5 9 7 4 0 6
9 6
3 0
9 7
5 2
5259 x 9395 = 7406 x 6072 =
1 2 8 1 6 9 6 0
6 3
6 2
7 7
7 3
1281 x 6677 = 6960 x 3273 =
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Lattice Multiplication (D) Answers

Use lattice multiplication to find each product.

4 6 9 6 1 7 5 6
2 4 T6 4/ 4 0 /To /To /1o 1 4
3,78, 2 3 2 o 1111 5/ 6
> 35 3 6 0 5 14 14 /) g
si, 4,6, 4 6 3,786, 0, 8
0 /10 710 710 7 0 10 710 10 /] 4
6,0, 0, o, 0 W 1 s, 6
0 /10 710 710 7 013 12 /13 /] 5
8, 0,00, 0 8,575, 5, 0
9 6 0 0 7 1 4 0
4696 x 7600 = 35,689,600 1756 x 1815 = 3,187,140
5 2 5 9 7 4 0 6
2 T4 T8 A 2 2770 T3 A 6
4,58, 5,1 a2 4, ol 6
01T 2 A 5 0 10 710 10 1,
o, 5,6 5 7 4,70, 0, o 0
T A4 18 A 1 /12 710 4 A 4
4 51,7 8], 511 o, o/ 8 ol 2
> T 2 A4 s T 10 0 1 1,
o5, 0, s/ 5 6,/ 4,/ 8, o/ 2
8§ 3 0 5 9 2 3 2
5259 x 9395 = 49,408,305 7406 x 6072 = 44,969,232
1 2 8 1 6 9 6 0
0T T4 T0 ) 6 L2 0 10 ) 4
o, 6, 2 8, 6 20,81 71, 8 0
0 1 4 10 7 6 AT A 00,
8, 6, 21 8 6 o0, 2 8l 2l 0
o 1 5 /10 /] 4 1+ N6 /14 /10 1 4
5,79 4, 6l 7 71207 3 2| o
o 1 5 /10 /] 4 A2 10 0 /) 5
s, 71, 4, 6l 7 8,778,718 0
3 2 3 7 0 0 8 0
1281 x 6677 = 8,553,237 6960 x 3273 = 22,780,080
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Lattice Multiplication (E)

Use lattice multiplication to find each product.

2 8 4 0 8 2 2 3
2 7
7 8
7 6
0 8
2840 x 2770 = 8223 x 7868 =
6 4 71 2 9 1 1 0
5 8
1 3
0 5
3 3
6472 x 5103 = 9110 x 8353 =
7 6 0 1 2 3 0 8
7 5
2 5
1 3
6 2
7601 x 7216 = 2308 x 5532 =
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Lattice Multiplication (E) Answers

Use lattice multiplication to find each product.

2 8 4 0 8 2 2 3
0 1 0 0 ) 5 1 1 2 7
0 4 6 8 0 6 6 4 4 1
1 5 2 0 7 6 1 1 2 8
7 4 6 8 0 4 4 6 6 4
1 5 2 0 7 4 ] 1 | 6
8 4 6 8 0 6 8 2 2 8
0 0 0 0 0 6 1 1 2 8
6 0 0 0 0 9 4 6 6 4
6 8 0 0 8 5 6 4
2840 x 2770 = 7,866,800 8223 x 7868 = 64,698, 564
6 4 71 2 9 1 1 0
3 2 3 1 5 7 0 0 0 8
3 0 0 5 0 7 2 8 8 0
0 0 0 0 1 2 0 0 0 3
3 6 4 7 2 6 7 3 3 0
0 0 0 0 0 4 0 0 0 5
0 0 0 0 0 0 5 5 5 0
1 1 2 0 3 2 0 0 0 3
2 8 2 1 6 9 7 3 3 0
6 6 1 6 5 8 3 0
6472 x 5103 = 33,026,616 9110 x 8353 = 76,095, 830
7 6 0 1 2 3 0 8
4 14 /10 /o /] 4 1 10 T4 A s
5 9 2 0 7 1 0 5 0 0
1 1 0 0 ) 1 1 0 4 5
4 4 2 0 2 2 0 5 0 0
0 0 0 0 1 0 0 0 2 3
8 7 6 0 1 7 6 9 0 4
4 3 0 0 6 0 0 0 1 )
4 2 6 0 6 6 4 6 0 6
8 8 1 6 7 8 5 6
7601 x 7216 = 54.848.816 2308 x 5532 = 12,767,856
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Lattice Multiplication (F)

Use lattice multiplication to find each product.

9 7 3 1 4 9 9 0
9 9
0 9
8 3
5 9
9731 x 9085 = 4990 x 9939 =
3.0 1 7 4 3 1 3
1 3
0 2
5 6
4 8
3017 x 1054 = 4313 x 3268 =
6 7 5 3 5.9 2 6
9 4
2 5
3 9
6 3
6753 x 9236 = 5926 x 4593 =
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Lattice Multiplication (F) Answers

Use lattice multiplication to find each product.

9 7 3 1 4 9 9 0
8 6 12 /10 ] ¢ 3 18 18 10 ] 9
8, 11,737 9 46,1 170
0 10 710 710 7 3 18 18 10 /] 9
8, 0,0, 0, 0 o, 6 1/ 1|/ 0
75 12 710 ) g L2 12 710 /] 4
a2 6l 4 8 s, 21 1 11 o
a3 1 710 ) s 3 /18 18 10 ]
o s, s, 5|/ 5 o, 6 11/ 1|/ 0
6 1 3 5 5 6 1 0
9731 x 9085 = 88,406, 135 4990 x 9939 = 49,595,610
30 1 7 4 3 1 3
0o /T0 /To To 1 4 1 /10 10 10 ] 4
o 3, 0, 1|/ 7 129, 3, 9
0 10 10 10 1 0o /10 10 10 1,
3,070, 0, 0 4,8 6l 2 6
100 13 ] s 2 10 A1 6
1570, 5/ 5 o, 4, 8 6, 8
1 /10 10 12 7 4 3 02710 12 ) g
1217 0 4, 8 ol 2| 4 8|/ 4
9 9 1 38 4 8 8 4
3017 x 1054 = 3,179,918 4313 x 3268 = 14,094,884
6 7 5 3 5 9 2 6
5776 T4 12 7 9 2 13 10 12 ) 4
o, 4, 3 51 7 o0, 0 6l 8 4
L1 A1 10, 2 4 0 3 ) s
o0, 2l 4l ol 6 715 5,7 o/ 0
1 12 1 10 A 5 N8 A1 5
3,871 51 9 o0, 51, 8 4
3 N4 A3 A0 A 6 A2 0 1 A 4
16, 2 0 8 15 711 6, 8
0 7 0 8 g8 1 1 8
6753 x 9236 = 62,370,708 5926 x 4593 =27,218,118
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Lattice Multiplication (G)

Use lattice multiplication to find each product.

1 2 4 6 2 7 17
1 6
2 2
8 8
5 7
1246 x 1285 = 2717 x 6287 =
3 3 6 2 6 3 4 4
6 8
7 6
6 3
9 3
3362 x 6769 = 6344 x 8633 =
1 4 4 0 6 1 8 9
9 7
7 9
3 4
6 9
1440 x 9736 = 6189 x 7949 =
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Lattice Multiplication (G) Answers

Use lattice multiplication to find each product.

1 2 4 6 2 7 1 7
00 T0o /10 A L T4 10 T4 ) 6
o, 11 2 4, 6 I 2 2 6, 2
010 10 1t A, o 1 0 A1 7,
i, 2 4, 8, 2 1N, 4, 4 0 4
0 T 5 4 A5 10 715 7 4
o, 8, 6, 2 38 o, 6 6,8, 6
0 T 2 15 ] s 114 10 A4 7 4
o, s,/ 0, 0, 0 8, 4, 91, 9
I 1 1 0 T 7 7 9
1246 x 1285 = 1,601,110 2717 x 6287 = 17,081,779
3 3 6 2 6 3 4 4
LT3 1 ] 6 2 T2 T3 T3 ) g
o, 8, 8, 6, 2 s, 8l 4, 0 0
2 12 4 A1 A 3 AT 2 2 6
o, 1,1 0 4 a6l 8l 4l 4
LT AT A 6 L0 1 1 7] 5
11,88, 6, 2 11,8, 9 2 2
> M2 5 T 7 L0 1 1 /] 5
s, 7,1, 4, 8 o,/ 8l 9 2 2
7 3 7 8 7 7 5 2
3362 x 6769 = 22.757.378 6344 x 8633 = 54.767.752
1 4 4 0 6 1 8 9
0 T3 1310 ¢ 4 10 5 16 /) 4
1,9, 6, 6, 0 a2 1, 6, 3
012 /12 10 7 4 5 07 18 7
a1, 8,8, 0 o, a9, 01
0 1T AT 0 7 4 2 10 13 13 7 4
o, 3, 2 20 a4, 2 6
0 12 12 710 7 6 5 07 18 7
16, 4, 4, 0 o A 9 2 1
9 8 4 0 6 3 6 I
1440 x 9736 = 14,019,840 6189 x 7949 = 49,196,361
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Lattice Multiplication (H)

Use lattice multiplication to find each product.

5.6 6 0 6 7 0 5
4 1
4 0
0 5
2 4
5660 x 4402 = 6705 x 1054 =
9o 6 7 1 9 2 2 4
5 3
7 3
3 2
6 5
9671 x 5736 = 0224 x 3325 =
2 8 0 3 116 7
3 8
9 8
9 5
9 9
2803 x 3999 = 1167 x 8859 =
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Lattice Multiplication (H) Answers

Use lattice multiplication to find each product.

5 6 6 0 6 7 0 5
2 12 12 /10 ] 4 0 T0 10 To ] 4
2 0 4 4 0 0 6 7 0 5
2 2 2 0 4 0 0 0 0 0
4 0 4 4 0 7 0 0 0 0
0 0 0 0 0 3 3 0 2 5
9 0 0 0 0 0 0 5 0 5
1 1 1 0 ) 2 2 0 2 4
1 0 2 2 0 6 4 8 0 0
5 3 2 0 7 0 7 0
5660 x 4402 = 24,915,320 6705 x 1054 = 7,067,070
9 6 7 1 9 2 2 4
4 3 3 0 5 2 0 0 1 3
5 5 0 5 5 3 7 6 6 2
6 4 4 0 7 2 0 0 1 3
5 3 2 9 7 0 7 6 6 2
2 1T 2 107 4 I /10 10 10 1,
4 7 8 1 3 6 8 4 4 8
5 3 4 0 6 4 1 1 2 5
7 4 6 2 6 6 5 0 0 0
2 8 5 6 9 8 0 0
9671 x 5736 = 55,472,856 9224 x 3325 = 30,669, 800
2 8 0 3 1 1 6 7
0 2 0 0 3 0 0 4 5 8
1 6 4 0 9 1 8 8 8 6
1 7 0 2 9 0 0 4 5 8
1 8 2 0 7 0 8 8 8 6
1 7 0 2 9 0 0 3 3 5
2 8 2 0 7 3 5 5 0 5
1 7 0 2 9 0 0 5 6 9
0 8 2 0 7 3 9 9 4 3
9 1 9 7 8 4 5 3
2803 x 3999 = 11,209,197 1167 x 8859 = 10,338,453
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Lattice Multiplication (I)

Use lattice multiplication to find each product.

4 1 4 5 4 3 1 1
5 9
5 6
0 0
7 0
4145 x 5507 = 4311 x 9600 =
2 6 2 7 9 1 1 3
1 8
8 6
0 7
1 2
2627 x 1801 = 9113 x 8672 =
4 7 8 1 5 8 6 5
3 3
8 5
5 1
4 8
4781 x 3854 = 5865 x 3518 =
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Lattice Multiplication (I) Answers

Use lattice multiplication to find each product.

4 1 4 5 4 3 1 1
2 0 2 2 5 3 2 0 0 9
2 0 5 0 5 4 6 7 9 9
2 0 2 2 5 2 1 0 0 6
2 0 5 0 5 1 4 8 6 6
0 0 0 0 0 0 0 0 0 0
8 0 0 0 0 3 0 0 0 0
2 0 2 3 7 0 0 0 0 0
2 8 7 8 5 8 0 0 0 0
6 5 1 5 5 6 0 0
4145 x 5507 = 22,826,515 4311 x 9600 = 41,385,600
2 6 2 7 9 1 1 3
0 0 0 0 1 7 0 0 2 8
0 2 6 2 7 7 2 8 8 4
1 4 1 5 8 5 0 0 1 6
4 6 8 6 6 9 4 6 6 8
0 0 0 0 0 6 0 0 2 7
7 0 0 0 0 0 3 7 7 1
0 /10 10 /10 7 4 I /10 10 10 1,
3 2 6 2 7 2 8 2 2 6
1 2 2 7 7 9 3 6
2627 x 1801 = 4,731,227 9113 x 8672 = 79,027,936
4 7 8 1 5 8 6 5
1 2 2 0 3 1 2 1 1 3
1 2 1 4 3 2 5 4 8 5
3 5 6 0 8 2 4 3 2 5
8 2 6 4 8 0 5 0 0 5
2 3 4 0 5 0 0 0 0 1
4 0 5 0 5 6 5 8 6 5
1 23 10 1 4 1+ N6 4 N4 g
2 6 8 2 4 3 0 4 8 0
5 9 7 4 3 0 7 0
4781 x 3854 = 18,425,974 5865 x 3518 = 20,633,070
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Lattice Multiplication (J)

Use lattice multiplication to find each product.

5 6 1 1 8 4 1 6
2 7
6 8
5 8
6 2
5611 x 2656 = 8416 x 7882 =
1 9 5 5 9 8 8 9
7 5
8 6
2 1
1 0
1955 x 7821 = 9889 x 5610 =
1 3 8 3 8 6 5 3
6 3
5 8
1 1
0 9
1383 x 6510 = 8653 x 3819 =
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Lattice Multiplication (J) Answers

Use lattice multiplication to find each product.

5 6 1 1 8 4 1 6
T Tt 10 10 7 , 5 /712 710 /14 /) 4
1 0 2 2 2 6 6 8 7 2
3 3 0 0 6 6 3 0 4 8
4 0 6 6 6 6 4 2 8 8
2 3 0 0 5 6 3 0 4 8
9 5 0 5 5 3 4 2 8 8
3 3 0 0 6 1 0 0 1 )
0 0 6 6 6 3 6 8 2 2
2 8 1 6 4 9 1 2
5611 x 2656 = 14,902,816 8416 x 7882 = 66,334,912
1 9 5 5 9 8 8 9
0 6 3 3 7 4 4 4 4 5
1 7 3 5 5 5 5 0 0 5
0 7 4 4 8 5 4 4 5 6
5 8 2 0 0 5 4 8 8 4
o T AT T, 0 /10 10 10 /] 4
2 2 8 0 0 4 9 8 8 9
0 0 0 0 1 0 0 0 0 0
9 1 9 5 5 7 0 0 0 0
0 0 5 5 7 2 9 0
1955 x 7821 = 15,290,055 9889 x 5610 = 55,477,290
1 3 8 3 8 6 5 3
0 1 4 1 6 2 1 1 0 3
0 6 8 8 8 3 4 8 5 9
0 1 4 1 5 6 4 4 2 8
9 5 5 0 5 3 4 8 0 4
0 0 0 0 1 0 0 0 0 1
0 1 3 8 3 0 8 6 5 3
0 0 0 0 0 7 5 4 2 9
0 0 0 0 0 4 2 4 5 7
3 3 3 0 5 8 0 7
1383 x 6510 = 9,003,330 8653 x 3819 = 33,045,807
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